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Using ‘C’ language
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Section A )

Attempt any Three of the following:
1. Explain the different types of operators.
2. Explainelse. .. if ladder with suitable example.
3. What are the different categories of function? Explain all in b
4. Explain the different types of loops with example.
5. Explain string handling functions.

Section B % (20)
Write short notes on any four.
1. What is difference between structure and ugi
2. Explain the one dimensional array with#Xa
singyfor Toop.

3. Write a program to print following
1
22
333
4444
at

55555

4. Explain the different t
5. What is differenggbetwe 3
6. Write a program ck whether a given year is leap year or not.

Section C
(A) Multi ce QUestions Choose a correct answer. (10)
1 Wh ile is essential for using clrscr() function?
(B) string.h (C) conio.h (D) stdio.h

2 index start at

Al (B)O (C) NULL (D) None of above
3 When fopen() fails to open a file it returns

(A) -1 (B) NULL ©1 (D) None of above
4 When function calls it self, it is known as

(A)Recursion (B) Nested loop (C) Exit control loop (D) None of above
5 ASCII value of ‘C’ is
(A)55 (B) 67 (C) 99 (D) 65



6 Statement is use to terminate the loop immediately.

(A) break (B) continue (C)A&B (D) Switch
7 Which one is not keyword in C.

(A)int (B) short (C) extern (D) inline
8 Default value of global variable is

A1 (B)O (C) garbage (D) -1
9 What is the size of float data type

(A) 8 byte (B) 4 byte (C) 2 byte (D e

10  Which string function is use to concatenate two string.

(A)strcat (B) concatenate (C) concate strc

(B)  Trueor False Q (10)
. Two case constants within the same switch st ave the same value.
. C language is high level language.

1

2

3. In switch case the default case is opti

4. A function can not return more thantone valCg at & time.

5. Itis necessary that loop countgr only Be an int. it can not be a float.

6. The keyword can not be us&as vagia mes.

7. A do while loop is used to eng t the statements within the loop are executed at
least twice. %

8. Function cande cal€d either by value or reference.




